
Quantitative Comparison Test 6 

1.    

-1 (-1) -1 +(-1) 

A. The quantity on the left is greater  

B. The quantity on the right is greater  

C. Both are equal  

D. The relationship cannot be determined without further information 

2.    

75,410 rounded to the 

nearest hundred 

75,410 rounded to the 

nearest thousand 

A. The quantity on the left is greater  

B. The quantity on the right is greater  

C. Both are equal  

D. The relationship cannot be determined without further information 

 

3. ABCD is a rectangle 

The length of the 

curved path from A to 

C 5 

A. The quantity on the left is greater  

B. The quantity on the right is greater  

C. Both are equal  

D. The relationship cannot be determined without further information 

4.    

Twice the volume of a 

cube of side 1 

Volume of a cube of 

side 2 

A. The quantity on the left is greater  

B. The quantity on the right is greater  
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C. Both are equal  

D. The relationship cannot be determined without further information 

5. x, y and z are consecutive integers 

and 

xyz = 0 

z 0 

A. The quantity on the left is greater  

B. The quantity on the right is greater  

C. Both are equal  

D. The relationship cannot be determined without further information 

6.    

The time it would take 

to drive 80 miles at an 

average speed of 60 

miles per hour 

The time it would take 

to drive 60 miles at an 

average speed of 45 

mile an hour 

A. The quantity on the left is greater  

B. The quantity on the right is greater  

C. Both are equal  

D. The relationship cannot be determined without further information 

7. 1/3 4/5 6/7 2/9 3/11 

The smallest fraction 

shown 

The product of the 

greatest fraction shown 

and 2/3 

A. The quantity on the left is greater  

B. The quantity on the right is greater  

C. Both are equal  

D. The relationship cannot be determined without further information 

8. 45 per cent of n = 60 

90 per cent of n 120 

A. The quantity on the left is greater  

B. The quantity on the right is greater  

C. Both are equal  

D. The relationship cannot be determined without further information 

9.    
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The number of integers 

between 50 and100 

which are multiples of 3 

The number of integers 

between 10 and 81 

which are multiples of 4 

A. The quantity on the left is greater  

B. The quantity on the right is greater  

C. Both are equal  

D. The relationship cannot be determined without further information 

 

10. Note figure not to scale 

Twice area of triangle 

ABC Area of triangle DBC 

A. The quantity on the left is greater  

B. The quantity on the right is greater  

C. Both are equal  

D. The relationship cannot be determined without further information 

Answer Key 

1.   A   

2.   A   

3.   A   

4.   B   

5.   D   

6.   C   

7.   B   

8.   C   

9.   B   

10.   D 
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